

SHRIEE JAGANNATH TEMPLE OFFICE, PURI

TENDER CALL NOTICE

Bid Identification No. 50 Date: 24.01.2024

The OSD (Development), Shree Jagannath Temple Administration, Puri on behalf of the Shree Jagannath Temple Managing Committee, Puri invites percentage rate bid in Single cover system for the below mentioned work from the eligible Class Government registered Contractors having experience in execution of Civil construction works, Stainless Steel Fabrication and Installation work & PH works.

Sl. No.	Name of the work	Estimated cost put to tender	Cost of bid document + GST (in ₹)		Period of Completi on	Class of contractor
1	2	2				
01.	Improvement of P.H. Works to Nilachala Bhakta Niwas such as supplying hot water to all room toilets from Central water heating system fixed at terrace floor.		4 ₹2,000/-+ GST 18%	5 ₹4,220/-	6 1(One) Calendar Months	7 'D' & 'C' Class Government registered
02.	Improvement of P.H. Works to Shree Gundicha Bhakta Niwas such as supplying hot water to all room toilets of B&C Block from Central water heating system.		₹2,000/-+ GST 18%	₹4,213/-	1(One) Calendar Months	Contractors
03.	Fabrication and fixing of Stainless steel stand with toughned glass shed for 4 Nos donation boxes proposed for fixing inside Shree Jagannath Temple Premises for the year 2023-24.	₹ 3,36,057.00	₹2000/-+ GST 18%	₹3,361/-	1(One) Calendar Months	
04.	Providing drainage system from Jamuna well inside Shree Jagannath Temple, Puri for the year 2023-24.	₹ 72,611.00	₹400/-+ GST 18%	₹727/-	1(One) Calendar Months	
05.	Improvement of P.H. Works to Koilibaikuntha Garden inside Shree Jagannath Temple Such as providing W/S line with stand posts for gardening.	₹ 1,62,419.00	₹600/-+ GST 18%	₹1,625/-	1(One) Calendar Months	
	Providing SS Grating in front of Ananda Bazaar East side hand washing area inside Shree Jagannath Temple Puri.	₹ 2,42,572.00	₹2000/-+ GST 18%	₹2,426/-	1(One) Calendar Months	
	Improvement of P.H. Works to Shree Gundicha Bhakta Niwas such as supplying hot water to all room toilets of A Block from Central water heating system.		₹2,000/-+ GST 18%	₹2,428/-	1(One) Calendar Months	
1)	Bid documents consisting of Plans specificat	i 1	11.			

Bid documents consisting of Plans, specifications, the schedule of quantities and the set of terms and condition of contract and other necessary documents can be seen in the website: - www.shreejagannatha.in.

M

- The bid documents will be available at Shree Jagannath Temple Office, Puri from Dt.24.01.2024 to 03.02.2024 up to 1:00 PM. or can be downloaded from Temple Office website-www.shreejagannatha.in.
- The cost of Bid document may be enclosed in shape of DD drawn in favour of Chief Administrator, Shree Jagannath Temple Administration, Puri.
- Bids are to be received in complete shape duly sealed on or before Date 03.02.2024, Time 3:00 PM at Shree 4) Jagannath Temple office, Puri /can be sent to Temple Office through Speed Post/Registered Post/Courier. The Temple Office will not be responsible for postal delay. The tender will be opened in presence of the bidder or their authorized representatives on the same date at 4:00 PM.
- The EMD may be enclosed in shape of Deposit receipt of Scheudle Bank (Term Deposit receipt) / Kissan 5) Vikash Patra / Post Office Savings Bank Account / National Savings Certificate / Post Office Time Deposit Account / Bank Guaranty of any nationalized bank for a period of three years duly pledged in favour of the Chief Administrator, Shree Jagannath Temple, Puri.
- The bidder or their authorized representatives are requested to attend the tender opening process at the 6) schedule time and place to witness the opening. If the office happens to be closed on the date of opening of the bids as specified, the bids will be opened on the next working day at the same time and venue.
- 7) Bidders are requested to enclose their valid
 - (a) Registration Certificate (b) PAN Card (c) GSTIN Certificate
 - (d) List of similar type of work completed in last 5 financial years of work value not less than 5 lakh.

Other details can be seen in the DTCN. 8)

The authority reserves the right to accept or cancel any or all bids without assigning any reason there of. 9)

OSD (Development)

Shree Jagannath Temple, Puri

Memo No 1072 Dt 24' 01 2024 Copy submitted to the Collector and Dy. Chief Administrator for kind information.

OSD (Development)

Shree Jagannath Temple, Puri

Dt 24.01- 7074

Copy to Superintending Engineer, Puri (R&B) Divn. Puri / Superintending Engineer, Rural Works Divn. Puri / Executive Officer, Puri Municipality, Puri / Secretary, PKDA, Puri / Office Notice board for information and wide circulation.

OSD (Development)

Shree Jagannath Temple, Puri

Memo No. 1074 Dt 24.01. 2014 Copy to

> 1) All empanelled contractors of Shree Jagannath Temple Office, Puri for information with a request to participate in the tender.

> 2) Dy. Administrator (Finance)/OSD (Works)/ Superintending Engineer/ OIC (Works)/ J.E (P.H.)/ Accounts Section / Office Notice Board, Shree Jagannath Temple, Puri for information & necessary action and wide circulation.
>
> 3) Computer Programmer, SJTA, Puri for information. He is requested to upload the Notice in Temple website for wide publication.

OSD (Development)

Shree Jagannath Temple, Puri



SHREE JAGANNATH TEMPLE OFFICE, PURI

TENDER DOCUMENT

Name Of Work:- Improvement of P.H. Works to Nilachala Bhakta Niwas such as supplying hot water to all room toilets from Central water heating system fixed at terrace floor.

EMPLOYER

CHIEF ADMINISTRATOR

SHRI JAGANNATH TEMPLE, PURI

Terms and Conditions

- 1. The rates should be quoted in percentage of Excess/Less on the BOQ at last page.
- 2. Contractor will be responsible for payment of royalty and all other taxes as per Government norms. GST will be paid extra on the bid amount.
- 3. The tenderer has to furnish attested true copy of contractor's license, GST Registration certificate and IT Pan Card along with the tender failing with the tender is liable for rejection.
- 4. No Departmental materials will be supplied to the contractor for the work.
- 5. Every tenderer is expected to inspect the site for the proposed work before quoting his rate.
- 6. Conditional tender is liable for rejection.
- 7. Letter etc. found in the tender box for raising or lowering of the rates in connection with the tender will not be considered.
- 8. No escalation will be paid due to rise of materials and labour rates.
- Under no circumstance interest is chargeable for dues payable if any for the work to the Contractor.
- 10. Additional performance security shall be deposited by the successful bidder when the range of difference between the estimated cost put to tender and the bid amount is below 5% No APS, from 5% and above and below 10% 50% of the differential cost & from 10% and above- 150% of differential cost of bid amount in shape of DD in favour of Chief Administrator, Shree Jagannath Temple, Puri.
- 11. In case of backing out any by any Contractor, the EMD deposited along with the tender will be forfeited.
- 12. In case delay in work due to any unavoidable reason, the contractor should immediately bring the notice of the Temple Administration in writing which may be considered for extension of agreement period.
- 13. The Contractor should arrange at his own cost necessary tools and plant required for efficient execution of the work and rates quoted should be inclusive of the hire and running charges of such plants and cost of consumables.
- 14. Subletting of the work is not allowed.
- 15. The Contractor will abide by the fair wages clause as introduced by Government of Odisha.
- 16. For the purpose of jurisdiction in the event of dispute if any the contract should be deemed to have entered from state of Orissa it is agreed that neither party to this contract nor the agreement will be competent to bring suit at any place outside State of Odisha.
- 17. The tenderer shall have to abide by the CPWD safety code introduced by Government of India.
- 18. The contractor should be fully liable to indemnity the department for any compensation under workmen Compensation Act.
- 19. All the items of work executed should confirm to the OPWD code specification.
- 20. During execution of work the instruction of authorized Engineers of Temple Administration should be meticulously carried out.

Signature of Contractor

Superintending Engineer

CONTRACT DATA

Name of Work : Improvement of P.H. Works to Nilachala Bhakta Niwas

such as supplying hot water to all room toilets from Central water heating system fixed at terrace floor.

2. Employer : Chief Administrator

Shree Jagannath Temple, Puri

3. Authorised Person : OSD(Development)

Shree Jagannath Temple, Puri

4. Authorised Engineer : Superintending Engineer (Works)

Shree Jagannath Temple, Puri

5. a)Amount of EMD : 1% of the amount put to tender

b)Amount of ISD : 1% of the approved tender amount

6. Period of bid validity : 90 days

7. Retention Money : 5% from each bill.

8. Date of commencement : Issue of notice to proceed with work

9. Time period : One Calander month

10. Amount of liquid damage for

Delay in completion of work : Rs.500/- per day limiting to 2%

of the work value

11. Defects liability period : One year

12. Deduction from bill : IT, Labour cess, Royalty and other taxes

as applicable

13. Percentage deduction

for incomplete work : 20% of the amount of balance work

SCHEDULE OF QUANTITIES

Name Of Work:-Improvement of P.H. Works to Nilachala Bhakta Niwas such as supplying hot water to all room toilets from Central water heating system fixed at terrace floor.

Estimated Cost Put in Tender: Rs. 4,21,922/-

I ant data and	Time of	- CT	
Last date and	time of receipt	of Tender Schedule: Dt: 03.02.202	4 up to 1.00 P.M

ITEM NO.	DESCRIPTION OF ITEM	UNIT	QUANTITY	RATE IN FIGURES		AMOUNT
1	Supplying all materials , labour, T&P and providing and fixing to wall or ceiling and floor PVC pipes conforming to ASTM-D 1785/89 (Sch-80) & 15778 /2007 SDR 11 C-PVC pipe & fittings of the following nominal bore with clamps including making good the wall,ceiling and floor ,testing all complete as per P.H. specification and direction of Engineer-incharge . 20mm dia C-PVC Pipe Ground Floor		40.00			44.444.00
2	20mm dia C-PVC Pipe First Floor		40.00	278.60	₹	11,144.00
3	20mm dia C-PVC Pipe Second Floor	mtr		287.50	₹	11,500.00
4	20mm dia C-PVC Pipe Third Floor	mtr	40.00	296.30	₹	11,852.00
5	25mm dia C-PVC Pipe Ground Floor	mtr	40.00	305.20	₹	12,208.00
		mtr	75.00	380.10	₹	28,507.50
6	25mm dia C-PVC Pipe First Floor	mtr	75.00	389.00	₹	29,175.00
7	25mm dia C-PVC Pipe Second Floor	mtr	75.00	397.80	₹	29,835.00
8	25mm dia C-PVC Pipe Third Floor	mtr	75.00	406.70	₹	30,502.50
9	25mm dia C-PVC Pipe Fourth Floor	mtr	100.00	415.50	₹	41,550.00
10	40mm dia C-PVC Pipe ForthFloor	mtr	120.00	798.90	₹	95,868.00
11	50 mm dia UPVC ASTM-D Pipes ForthFloor	mtr	15.00	542.20	₹	
12	Supplying all materials,labour,T&P and cutting holes through existing brick work including making good the damages in cement mortar(1:4) for taking GI pipes and fittings/PVC pipes and fittings etc.all complete as per PH specification and direction of the Engineer-in-charge. 250mm thick wall In ground floor	each	15.00	52.20	₹	8,133.00 783.00
13	250mm thick wall First Floor					
14	250mm thick wall Second Floor	each	12	53.10	₹	637.20
	200mm thor wall occord 1 lool	each	14	54.10	₹	757.40
15	250mm thick wall Trird Floor	22.1		31.10		101.40
10		each	14	55.20	₹	772.80
16	Supplying all materials, labour, T&P and fitting and fixing brass/CP fittings of following nominal bore with supply of all jointing materials complete as per P.H. specification and direction of Engineer-in-charge 15mm dia CP angle stop cock(Jaquar)-FLR-ABR-5053N)	Each	12	1722.70	₹	20,672.40

17	20 mm Ball Valve	Each	55	461.60	₹	25,388.00
18	25 mm Ball Valve					
19	40 mm Ball Valve	Each	10	612.50	₹	6,125.00
-		Each	3	1663.20	₹	4,989.60
20	50 mm Ball Valve	Each	2	2738.60	₹	5,477.20
21	20 mm brass Non Return Valve (NRV)	Each	55	451.90	₹	24,854.50
22	25 mm brass Non Return Valve (NRV)	Each	8	713.80	₹	5,710.40
23	2 Feet Hot Connection Pipe	Each	30	327.50	₹	9,825.00
24	Spindle for Bib Cock/Stop Cock	Each	20	170.80	₹	3,416.00
25	CP Beat Nipple	Each	55	40.70	₹	2,238.50
				Total =	₹	4,21,922.00
	Total in Wards	Rup		r lakh twenty o		
	I do offer my rateLess/Excess (in wor 4,21,922.00 /-	d)	than the Esima	ated Co.	st of Rs

25(Twenty five Items Only)

GST Extra

Percentage of Excess/Less-

Tender Amount-

No. of correction......

No. of over writting.....

gung

OSD (Development)
Shree Jagannath Temple

Approved

Issued to Sri..., Contractor vide M.R.No...dtd...

Superintending Engineer Shree Jagannath Temple

Signature of Contractor

Superintending Engineer Shree Jagannath Temple

Signature of Employer
Shree Jagannath Temple



SHREE JAGANNATH TEMPLE OFFICE, PURI

TENDER DOCUMENT

Name Of Work:- Improvement of P.H. Works to Shree Gundicha Bhakta Niwas such as supplying hot water to all room toilets of B&C Block from Central water heating system.

EMPLOYER

CHIEF ADMINISTRATOR

SHRI JAGANNATH TEMPLE,PURI

Terms and Conditions

- The rates should be quoted in percentage of Excess/Less on the BOQ at last page.
- 2. Contractor will be responsible for payment of royalty and all other taxes as per Government norms. GST will be paid extra on the bid amount.
- 3. The tenderer has to furnish attested true copy of contractor's license, GST Registration certificate and IT Pan Card along with the tender failing with the tender is liable for rejection.
- 4. No Departmental materials will be supplied to the contractor for the work.
- 5. Every tenderer is expected to inspect the site for the proposed work before quoting his rate.
- 6. Conditional tender is liable for rejection.
- 7. Letter etc. found in the tender box for raising or lowering of the rates in connection with the tender will not be considered.
- 8. No escalation will be paid due to rise of materials and labour rates.
- 9. Under no circumstance interest is chargeable for dues payable if any for the work to the Contractor.
- 10. Additional performance security shall be deposited by the successful bidder when the range of difference between the estimated cost put to tender and the bid amount is below 5% No APS, from 5% and above and below 10% 50% of the differential cost & from 10% and above- 150% of differential cost of bid amount in shape of DD in favour of Chief Administrator, Shree Jagannath Temple, Puri.
- 11. In case of backing out any by any Contractor, the EMD deposited along with the tender will be forfeited.
- 12. In case delay in work due to any unavoidable reason, the contractor should immediately bring the notice of the Temple Administration in writing which may be considered for extension of agreement period.
- 13. The Contractor should arrange at his own cost necessary tools and plant required for efficient execution of the work and rates quoted should be inclusive of the hire and running charges of such plants and cost of consumables.
- 14. Subletting of the work is not allowed.
- 15. The Contractor will abide by the fair wages clause as introduced by Government of Odisha.
- 16. For the purpose of jurisdiction in the event of dispute if any the contract should be deemed to have entered from state of Orissa it is agreed that neither party to this contract nor the agreement will be competent to bring suit at any place outside State of Odisha.
- 17. The tenderer shall have to abide by the CPWD safety code introduced by Government of India.
- 18. The contractor should be fully liable to indemnity the department for any compensation under workmen Compensation Act.
- 19. All the items of work executed should confirm to the OPWD code specification.
- 20. During execution of work the instruction of authorized Engineers of Temple Administration should be meticulously carried out.

Signature of Contractor

Superintending Engineer

CONTRACT DATA

Name of Work : Improvement of P.H. Works to Shree GundichaBhakta

Niwas such as supplying hot water to all room toilets of

B&C Block from Central water heating system.

2. Employer : Chief Administrator

Shree Jagannath Temple, Puri

3. Authorised Person : OSD(Development)

Shree Jagannath Temple, Puri

4. Authorised Engineer : Superintending Engineer (Works)

Shree Jagannath Temple, Puri

5. a)Amount of EMD : 1% of the amount put to tender

b)Amount of ISD : 1% of the approved tender amount

6. Period of bid validity : 90 days

7. Retention Money : 5% from each bill.

8. Date of commencement : Issue of notice to proceed with work

9. Time period : One Calander month

10. Amount of liquid damage for

Delay in completion of work : Rs.500/- per day limiting to 2%

of the work value

11. Defects liability period : One year

12. Deduction from bill : IT, Labour cess, Royalty and other taxes

as applicable

13. Percentage deduction

for incomplete work : 20% of the amount of balance work

Signature of Contractor

Superintending Engineer

SCHEDULE OF QUANTITIES

Name Of Work:- Improvement of P.H. Works to Shree Gundicha Bhakta Niwas such as supplying hot water to all room toilets of B&C Block from Central water heating system.

Estimated Cost Put in Tender: Rs. 4,21,288/-

Last date and Time of receipt of Tender Schedule : Dt : 03.02.2024 up to 1.00 P.M.

ITEM	date and Time of receipt of Tender Schedule : Dt : 03.02 DESCRIPTION OF ITEM			RATE IN		
NO.		UNIT	QUANTITY	FIGURES		AMOUNT
1	Supplying all materials, labour, T&P and providing and fixing to wall or ceiling and floor PVC pipes conforming to ASTM-D 1785/89 (Sch-80) & 15778 /2007 SDR 11 C-PVC pipe & fittings of the following nominal bore with clamps including making good the wall, ceiling and floor , testing all complete as per P.H. specification and direction of Engineer-incharge. Ground Floor 20mm dia C-PVC Pipe					
		mtr	40.00	278.60	₹	11,144.00
2	First Floor 20mm dia C-PVC Pipe	mtr	40.00	287.50	₹	11,500.00
3	Second Floor 20mm dia C-PVC Pipe	mtr	40.00	296.30	₹	11,852.00
4	Ground Floor 25mm dia C-PVC Pipe	mtr	114.00	380.10	₹	43,331.40
5	First Floor 25mm dia C-PVC Pipe	mtr	114.00	389.00	₹	44,346.00
6	Second Floor 25mm dia C-PVC Pipe	mtr	114.00	397.80	₹	45,349.20
7	Third Floor 25mm dia C-PVC Pipe		105.00			
8	Third Floor 40mm dia C-PVC Pipe	mtr		406.70	₹	42,703.50
9	Third Floor 50 mm dia UPVC ASTM-D Pipes	mtr	105.00 20.00	785.80	₹	82,509.00
10	Supplying all materials, labour, T&P and cutting holes through existing brick work including making good the damages in cement mortar(1:4) for taking GI pipes and fittings/PVC pipes and fittings etc. all complete as per PH specification and direction of the Engineer-in-charge. In ground floor 250mm thick wall	each	16	529.30 52.20	₹	10,586.00
11	First Floor 250mm thick wall					
12	Second Floor 250mm thick wall	each	16	53.10	₹	849.60
12	Supplying all materials Jahour TOD and fitting	each	16	54.10	₹	865.60
13	Supplying all materials, labour, T&P and fitting and fixing brass/CP fittings of following nominal bore with supply of all jointing materials complete as per P.H. specification and direction of Engineer-in-charge. 15mm dia CP angle stop cock(Jaquar)-FLR-ABR-5053N)	Each	15	1722.70	₹	25,840.50
14	20 mm Ball Valve					
15	25 mm Ball Valve	Each	50	461.60	₹	23,080.00
16	40 mm Ball Valve	Each	10	612.50	₹	6,125.00
	To Time Ball Valvo	Each	4	1663.20	₹	6,652.80

17	50 mm Ball Valve				T .	
		Each	4	2738.60	₹	10,954.40
18	20 mm brass Non Return Valve (NRV)	9.0			1	10,001.40
10		Each	50	451.90	₹	22,595.00
19	25 mm brass Non Return Valve (NRV)					
		Each	12	713.80	₹	8,565.60
20	2 Feet Hot Connection Pipe					0,000.00
•		Each	24	327.50	₹	7,860.00
21	Spindle for Bib Cock/Stop Cock					1,000.00
00		Each	10	170.80	₹	1,708.00
22	CP Beat Nipple					
		Each	50	40.70	₹	2,035.00
				Total =	₹	4,21,288.00
	Total in Wards	Rup	oees Fo	ur lakh twenty o	ne thou	ısand two
	Total III Walus			undred eighty e		
	I do offer my rateLess/Excess (in word	d				
	4,21,288.00 /-			2511110		113

22(Twenty two Items Only)

GST Extra

Percentage of Excess/Less-

Tender Amount-

Approved

OSD (Development)

Shree Jagannath Temple

Issued to Sri,	Contractor vide
M.R.Nodtd	

Superintending Engineer Shree Jagannath Temple

Signature of Contractor

Superintending Engineer

Signature of Employer

Shree Jagannath Temple

Shree Jagannath Temple



SHREE JAGANNATH TEMPLE OFFICE, PURI

TENDER DOCUMENT

Name Of Work:- Fabrication and fixing of Stainless steel stand with toughned glass shed for 4 Nos donation boxes proposed for fixing inside Shree Jagannath Temple Premises for the year 2023-24.

EMPLOYER

CHIEF ADMINISTRATOR

SHRI JAGANNATH TEMPLE, PURI

Terms and Conditions

- The rates should be quoted in percentage of Excess/Less on the BOQ at last page.
- Contractor will be responsible for payment of royalty and all other taxes as per Government norms. GST will be paid extra on the bid amount.
- 3. The tenderer has to furnish attested true copy of contractor's license, GST Registration certificate and IT Pan Card along with the tender failing with the tender is liable for rejection.
- No Departmental materials will be supplied to the contractor for the work.
- Every tenderer is expected to inspect the site for the proposed work before quoting his rate.
- 6. Conditional tender is liable for rejection.
- 7. Letter etc. found in the tender box for raising or lowering of the rates in connection with the tender will not be considered.
- 8. No escalation will be paid due to rise of materials and labour rates.
- Under no circumstance interest is chargeable for dues payable if any for the work to the Contractor.
- 10. Additional performance security shall be deposited by the successful bidder when the range of difference between the estimated cost put to tender and the bid amount is below 5% No APS, from 5% and above and below 10% 50% of the differential cost & from 10% and above- 150% of differential cost of bid amount in shape of DD in favour of Chief Administrator, Shree Jagannath Temple, Puri.
- 11. In case of backing out any by any Contractor, the EMD deposited along with the tender will be forfeited.
- 12. In case delay in work due to any unavoidable reason, the contractor should immediately bring the notice of the Temple Administration in writing which may be considered for extension of agreement period.
- 13. The Contractor should arrange at his own cost necessary tools and plant required for efficient execution of the work and rates quoted should be inclusive of the hire and running charges of such plants and cost of consumables.
- 14. Subletting of the work is not allowed.
- 15. The Contractor will abide by the fair wages clause as introduced by Government of Odisha.
- 16. For the purpose of jurisdiction in the event of dispute if any the contract should be deemed to have entered from state of Orissa it is agreed that neither party to this contract nor the agreement will be competent to bring suit at any place outside State of Odisha.
- 17. The tenderer shall have to abide by the CPWD safety code introduced by Government of India.
- 18. The contractor should be fully liable to indemnity the department for any compensation under workmen Compensation Act.
- 19. All the items of work executed should confirm to the OPWD code specification.
- During execution of work the instruction of authorized Engineers of Temple Administration should be meticulously carried out.

Signature of Contractor

Superintending Engineer

CONTRACT DATA

Name of Work : Fabrication and fixing of Stainless steel stand with

toughned glass shed for 4 Nos donation boxes proposed for fixing inside Shree Jagannath Temple

Premises for the year 2023-24.

2. Employer : Chief Administrator

Shree Jagannath Temple, Puri

3. Authorised Person : OSD(Development)

Shree Jagannath Temple, Puri

4. Authorised Engineer : Superintending Engineer (Works)

Shree Jagannath Temple, Puri

5. a)Amount of EMD : 1% of the amount put to tender

b)Amount of ISD : 1% of the approved tender amount

6. Period of bid validity : 90 days

7. Retention Money : 5% from each bill.

8. Date of commencement : Issue of notice to proceed with work

9. Time period : One Calander month

10. Amount of liquid damage for

Delay in completion of work : Rs.500/- per day limiting to 2%

of the work value

11. Defects liability period : One year

12. Deduction from bill : IT, Labour cess, Royalty and other taxes

as applicable

13. Percentage deduction

for incomplete work : 20% of the amount of balance work

Signature of Contractor

Superintending Engineer

SCHEDULE OF QUANTITIES

Name of the work:- Fabrication and fixing of Stainless steel stand with toughned glass shed for 4 Nos donation boxes proposed for fixing inside Shree Jagannath Temple Premises for the year 2023-24.

Estimated Cost Put in Tender: Rs. 3,36,057/-

Last date and Time of receipt of Tender Schedule : Dt : 03.02.2024 up to 1.00 P.M.

ITEM NO.	DESCRIPTION OF ITEM	UNIT	QUANTITY	RATE IN FIGURES		AMOUNT
1	Supplying, fitting and fixing of Stainless Steel of 316 Grade in Structue using SS Square/Rectangular Pipes and Plates including moulding, fabricating, buffing, blistingetc as per approved design and specification, with all cost, labour, materials etc. complete.					
		Kg	440.85	609.00	₹	2,68,477.65
2	Providing Fitting fixing of 12mm thick Toughened glass over frame work with cost, conveyance, taxes of all materials, labour, T&P etc. required for the complete in all respect as per specification and direction of EIC.					
2	D. dd. M.	Sqm.	13.51	4073.65	₹	55,035.01
3	Providing Manpower for placing of Donation box over Stand with arrangement for lifting.	Nos	32.00	392.00	₹	12,544.00
			T	otal =	₹	3,36,057.00
	Total in Wards	Rup	ees Three lak	th thirty six tho	ousand fi	fty seven only
	I do offer my rateLess/Excess (in word 3,36,057.00 /-) than	the Esimated	Cost of	Rs

3(Three Items Only)

GST Extra

Percentage of Excess/Less-

Tender Amount-

No. of correction..... No. of over writting.....

OSD (Development)

Approved

Shree Jagannath Temple

Issued to Sri...., Contractor vide M.R.No.....dtd.....

> Superintending Engineer Shree Jagannath Temple

Signature of Contractor

Superintending Engineer

Shree Jagannath Temple

Signature of Employer Shree Jagannath Temple



SHREE JAGANNATH TEMPLE OFFICE, PURI

TENDER DOCUMENT

Name Of Work:- Providing drainage system from Jamuna well inside Shree Jagannath Temple, Puri for the year 2023-24.

EMPLOYER

CHIEF ADMINISTRATOR

SHRI JAGANNATH TEMPLE,PURI

Terms and Conditions

- 1. The rates should be quoted in percentage of Excess/Less on the BOQ at last page.
- Contractor will be responsible for payment of royalty and all other taxes as per Government norms. GST will be paid extra on the bid amount.
- 3. The tenderer has to furnish attested true copy of contractor's license, GST Registration certificate and IT Pan Card along with the tender failing with the tender is liable for rejection.
- 4. No Departmental materials will be supplied to the contractor for the work.
- Every tenderer is expected to inspect the site for the proposed work before quoting his rate.
- Conditional tender is liable for rejection.
- Letter etc. found in the tender box for raising or lowering of the rates in connection with the tender will not be considered.
- No escalation will be paid due to rise of materials and labour rates.
- Under no circumstance interest is chargeable for dues payable if any for the work to the Contractor.
- 10. Additional performance security shall be deposited by the successful bidder when the range of difference between the estimated cost put to tender and the bid amount is below 5% No APS, from 5% and above and below 10% 50% of the differential cost & from 10% and above- 150% of differential cost of bid amount in shape of DD in favour of Chief Administrator, Shree Jagannath Temple, Puri.
- In case of backing out any by any Contractor, the EMD deposited along with the tender will be forfeited.
- 12. In case delay in work due to any unavoidable reason, the contractor should immediately bring the notice of the Temple Administration in writing which may be considered for extension of agreement period.
- 13. The Contractor should arrange at his own cost necessary tools and plant required for efficient execution of the work and rates quoted should be inclusive of the hire and running charges of such plants and cost of consumables.
- 14. Subletting of the work is not allowed.
- 15. The Contractor will abide by the fair wages clause as introduced by Government of Odisha.
- 16. For the purpose of jurisdiction in the event of dispute if any the contract should be deemed to have entered from state of Orissa it is agreed that neither party to this contract nor the agreement will be competent to bring suit at any place outside State of Odisha.
- 17. The tenderer shall have to abide by the CPWD safety code introduced by Government of India.
- The contractor should be fully liable to indemnity the department for any compensation under workmen Compensation Act.
- 19. All the items of work executed should confirm to the OPWD code specification.
- 20. During execution of work the instruction of authorized Engineers of Temple Administration should be meticulously carried out.

Signature of Contractor

Superintending Engineer

CONTRACT DATA

: Providing drainage system from Jamuna well inside Shree Jagannath Temple, Puri for the year 2023-24. 1. Name of Work

: Chief Administrator

Shree Jagannath Temple, Puri 2. Employer

: OSD(Development) 3. Authorised Person

Shree Jagannath Temple, Puri

: Superintending Engineer (Works) 4. Authorised Engineer

Shree Jagannath Temple, Puri

: 1% of the amount put to tender 5. a)Amount of EMD

: 1% of the approved tender amount b)Amount of ISD

: 90 days 6. Period of bid validity

: 5% from each bill. 7. Retention Money

: Issue of notice to proceed with work 8. Date of commencement

: One Calander month 9. Time period

10. Amount of liquid damage for

: Rs.500/- per day limiting to 2% Delay in completion of work

of the work value

: One year 11. Defects liability period

: IT, Labour cess, Royalty and other taxes 12. Deduction from bill

as applicable

13. Percentage deduction

: 20% of the amount of balance work for incomplete work

Signature of Contractor

Superintending

SCHEDULE OF QUANTITIES

Name of the work:- Providing drainage system from Jamuna well inside Shree Jagannath Temple, Puri for the year 2023-24.

Estimated Cost Put in Tender: Rs. 72,611/-

Last	date and Time of receipt of Tender Schedule : Dt : 03.02	2.2024 u	p to 1.00 P.M			
NO.	DESCRIPTION OF ITEM	UNIT	QUANTITY	RATE IN FIGURES		AMOUNT
1	Dismentaling brick masonary or stone masonary in lime & cement mortar under 3.00mtrs height and stacking the useful materials.			TIOONEO		
•		Cum	0.15	1300.22	₹	195.03
2	Supplying all materials, labour, T&P and providing and laying in trenches unplasticized PVC pipes and specials conforming to IS: 4985/2000 of the following outside dia for all classes including jointing with supply of approved solvent cement by heat application method including testing as per specification and direction of the Engineer in charge.					
		Mtr	20.00	1571.10	₹	31,422.00
3	Fly ash Brick masonary in Foundation & Plinth in C.M. (1:4) including all cost, carriage, royality, addl. charges, DMF & EMF, curing etc. complete as directed by the Erin-charge.		20.00	137 1.10		31,422.00
	20	Cum	0.13	5517.00	₹	717.21
	20mm thick in C.M.(1:4) Plaster to the smooth surface including all cost , carriage, royality, addl. charges, DMF & EMF , curing etc. complete as directed by the Erin-charge.					
		Sqm.	0.51	262.80	₹	134.03
	Supplying all materials, labour, T&P and providing cement concrete (1:1½:3)with 12mm size hard broken granite chips for R.C.C works including hoisting, laying, watering, curing, conveyance of all materials to worksite, payment of royalty, taxes etc all complete as per specification and direction of the Engineer in charge.			202.00		104.00
		Cum	0.89	8491.80	₹	7,557.70
	Supplying, fitting and fixing of Stainless Steel of 316 Grade in Structue/Jaali using SS Square/Rectangular Pipes and Plates including moulding, fabricating, buffing, blistingetc as per approved design and specification, with all cost, labour, materials etc. complete.					.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
		Kg	46.80	636.10	₹	29,769.48

7	Supplying of Sweeper for cleaning of Drain.					
		Nos	8.00	352.00	₹	2,816.00
				Total =	₹	72,611.00
	Total in Wards	Rupe	es Seventy	two thousand	six hundre	ed eleven only
	I do offer my rateLess/Excess (in word 72,611.00 /-) than th	ne Esimated C	ost of	Rs
TO SE	07 (Seven Items Only)					

GST Extra

Percentage of Excess/Less-

Tender Amount-

No. of correction..... No. of over writting.....

Approved

OSD (Development) Shree Jagannath Temple

> Issued to Sri...., Contractor vide M.R.No.....dtd....

> > **Superintending Engineer** Shree Jagannath Temple

Signature of Contractor

Superintending Engineer Shree Jagannath Temple

Signature of Employer Shree Jagannath Temple



SHREE JAGANNATH TEMPLE OFFICE, PURI

TENDER DOCUMENT

Name Of Work:- Improvement of P.H. Works to Koilibaikuntha Garden inside Shree Jagannath Temple Such as providing W/S line with stand posts for gardening.

EMPLOYER

CHIEF ADMINISTRATOR
SHRI JAGANNATH TEMPLE, PURI

Terms and Conditions

- The rates should be quoted in percentage of Excess/Less on the BOQ at last page.
- 2. Contractor will be responsible for payment of royalty and all other taxes as per Government norms. GST will be paid extra on the bid amount.
- 3. The tenderer has to furnish attested true copy of contractor's license, GST Registration certificate and IT Pan Card along with the tender failing with the tender is liable for rejection.
- 4. No Departmental materials will be supplied to the contractor for the work.
- 5. Every tenderer is expected to inspect the site for the proposed work before quoting his rate.
- 6. Conditional tender is liable for rejection.
- 7. Letter etc. found in the tender box for raising or lowering of the rates in connection with the tender will not be considered.
- 8. No escalation will be paid due to rise of materials and labour rates.
- 9. Under no circumstance interest is chargeable for dues payable if any for the work to the Contractor.
- 10. Additional performance security shall be deposited by the successful bidder when the range of difference between the estimated cost put to tender and the bid amount is below 5% No APS, from 5% and above and below 10% 50% of the differential cost & from 10% and above- 150% of differential cost of bid amount in shape of DD in favour of Chief Administrator, Shree Jagannath Temple, Puri.
- 11. In case of backing out any by any Contractor, the EMD deposited along with the tender will be forfeited.
- 12. In case delay in work due to any unavoidable reason, the contractor should immediately bring the notice of the Temple Administration in writing which may be considered for extension of agreement period.
- 13. The Contractor should arrange at his own cost necessary tools and plant required for efficient execution of the work and rates quoted should be inclusive of the hire and running charges of such plants and cost of consumables.
- 14. Subletting of the work is not allowed.
- 15. The Contractor will abide by the fair wages clause as introduced by Government of Odisha.
- 16. For the purpose of jurisdiction in the event of dispute if any the contract should be deemed to have entered from state of Orissa it is agreed that neither party to this contract nor the agreement will be competent to bring suit at any place outside State of Odisha.
- 17. The tenderer shall have to abide by the CPWD safety code introduced by Government of India.
- 18. The contractor should be fully liable to indemnity the department for any compensation under workmen Compensation Act.
- 19. All the items of work executed should confirm to the OPWD code specification.
- 20. During execution of work the instruction of authorized Engineers of Temple Administration should be meticulously carried out.

Signature of Contractor

Superintending Engineer

CONTRACT DATA

Name of Work : Improvement of P.H. Works to Koilibaikuntha Garden

inside Shree Jagannath Temple Such as providing

W/S line with stand posts for gardening.

2. Employer : Chief Administrator

Shree Jagannath Temple, Puri

3. Authorised Person : OSD(Development)

Shree Jagannath Temple, Puri

4. Authorised Engineer : Superintending Engineer (Works)

Shree Jagannath Temple, Puri

5. a)Amount of EMD : 1% of the amount put to tender

b)Amount of ISD : 1% of the approved tender amount

6. Period of bid validity : 90 days

7. Retention Money : 5% from each bill.

8. Date of commencement : Issue of notice to proceed with work

9. Time period : One Calander month

10. Amount of liquid damage for

Delay in completion of work : Rs.500/- per day limiting to 2%

of the work value

11. Defects liability period : One year

12. Deduction from bill : IT, Labour cess, Royalty and other taxes

as applicable

13. Percentage deduction

for incomplete work : 20% of the amount of balance work

SCHEDULE OF QUANTITIES

Nan of the work:- Improvement of P.H. Works to Koilibaikuntha Garden inside Shree Jagannath Temple Such as providing W/S line with stand posts for gardening.

Estimated Cost Put in Tender: Rs. 1,62,419/-

Last date and Time of receipt of Tender Schedule : Dt : 03.02.2024 up to 1.00 P.M.

ITEM NO.	DESCRIPTION OF ITEM	UNIT	QUANTITY	RATE IN FIGURES		AMOUNT
1	Earthwork in hard soil including all cost etc within initial leads and lifts complete.	Cum	28.20	211.00	₹	5,950.2
2	Filling foundation and plinth with sand well watered and rammed including all cost , carriage, royality, addl. charges, DMF & EMF etc. complete as directed by the Erin-charge.	100	0.54	1494.10	₹	
3	Cement Concrete (1:3:6) using 40mm.C.B size metal including all cost, carriage, royality, addl. charges, DMF & EMF, curing etc. complete as directed by the Erin-		0.04	1494.10		806.8
1	charge.	Cum	0.54	6408.20	₹	3,460.43
4	Cement Concrete(1:2:4) using 12mm.size C.B. chips including all cost, carriage, royality, addl. charges, DMF & EMF, curing etc. complete as directed by the Erincharge.	Cum	1.92		₹	
5	Supplying all materials , labour, T&P and providing and fixing to wall or ceiling and floor PVC pipes conforming to ASTM-D 1785/89 (Sch-80) & 15778 /2007 SDR 11 C-PVC pipe & fittings of the following nominal bore with clamps including making good the wall,ceiling and floor testing all complete as per P.H. specification and direction of Engineer-in-charge . 20 mm dia UPVC ASTM-D Pipes(Sch-80)			7796.60		14,969.47
		mtr	7.50	139.70	₹	1,047.75
6	25 mm dia UPVC ASTM-D Pipes (Sch-80)	mtr	15.00	191.40	₹	2,871.00
7	50 mm dia UPVC ASTM-D Pipes(Sch-80)	mtr	170.00	410.30	₹	
	Supplying all materials, labour, T&P and providing and laying in trenches unplasticized PVC pipes and specials conforming to IS: 4985/2000 of the following outside dia for all classes including jointing with supply of approved solvent cement by heat application method including testing as per specification and direction of the Engineer in charge. 200 mm PVC Pipe (6 Kg)	mtr	18.00			69,751.00
l	Supplying all materials , labour, T&P and fitting and fixing brass/CP fittings of following nominal bore with supply of all jointing materials complete as per P.H. specification and direction of Engineer-in-charge 20 mm Ball Valve		10.00	1571.10	₹	28,279.80
0 5	i0 mm Ball Valve	Each	15	461.60	₹	6,924.00
	o min dair vaivo	Each	3	2738.60	₹	8,215.80

	I do offer my rateLess/Excess (in word) than th	ne Esimated Co	ost of	Rs
	Total in Wards			akh sixty two th nineteen o	nly	four hundred
				Total =	₹	1,62,419.00
		mtr	20.00	128.10	₹	2,562.00
13	2.50 sqmm flate cable			0000.00	1	0,000.00
-	DOL contol pannel suitable for 1HP pump	each	1	3805.50	₹	3,805.50
12		each	1	13775.60	₹	13,775.60
111	Supplying all materials, labour, T&P and providing fitting fixing submerssible pump with squirrel cage induction type submerssible electric motor to run single-phase line voltage ranging from320 to450 volt confirm to IS 8034/89 with following specification suitable control pannel jointing with GI/PVC/HDPE pipe, electrification, testing, commissioning, trial running, conveyance of all material to work site, payment of all taxces etc all complete as per PH specification and direction of Engineer-in-charge. 1 H.P single phase 3 stage head range 20 to 35 metres, discharge 145 to 110 L.P.M with outlet dia of 25mm					

13(Thirteen Items Only)

GST Extra

Percentage of Excess/Less-Tender Amount-

No.	of correction
No.	of over writting

OSD (Development)

Shree Jagannath Temple

Approved

Issued to Sri..., Contractor vide M.R.No..., dtd...

Superintending Engineer Shree Jagannath Temple

Signature of Contractor

Superintending Engineer Shree Jagannath Temple Signature of Employer Shree Jagannath Temple



SHREE JAGANNATH TEMPLE OFFICE, PURI

TENDER DOCUMENT

Name Of Work:- Providing SS Grating in front of Ananda Bazaar East side hand washing area inside Shree Jagannath Temple Puri.

EMPLOYER

CHIEF ADMINISTRATOR
SHRI JAGANNATH TEMPLE, PURI

Terms and Conditions

- The rates should be quoted in percentage of Excess/Less on the BOQ at last page.
- 2. Contractor will be responsible for payment of royalty and all other taxes as per Government norms. GST will be paid extra on the bid amount.
- The tenderer has to furnish attested true copy of contractor's license, GST Registration certificate and IT Pan Card along with the tender failing with the tender is liable for rejection.
- 4. No Departmental materials will be supplied to the contractor for the work.
- 5. Every tenderer is expected to inspect the site for the proposed work before quoting his rate.
- 6. Conditional tender is liable for rejection.
- Letter etc. found in the tender box for raising or lowering of the rates in connection with the tender will not be considered.
- 8. No escalation will be paid due to rise of materials and labour rates.
- Under no circumstance interest is chargeable for dues payable if any for the work to the Contractor.
- 10. Additional performance security shall be deposited by the successful bidder when the range of difference between the estimated cost put to tender and the bid amount is below 5% No APS, from 5% and above and below 10% 50% of the differential cost & from 10% and above- 150% of differential cost of bid amount in shape of DD in favour of Chief Administrator, Shree Jagannath Temple, Puri.
- In case of backing out any by any Contractor, the EMD deposited along with the tender will be forfeited.
- 12. In case delay in work due to any unavoidable reason, the contractor should immediately bring the notice of the Temple Administration in writing which may be considered for extension of agreement period.
- 13. The Contractor should arrange at his own cost necessary tools and plant required for efficient execution of the work and rates quoted should be inclusive of the hire and running charges of such plants and cost of consumables.
- 14. Subletting of the work is not allowed.
- 15. The Contractor will abide by the fair wages clause as introduced by Government of Odisha.
- 16. For the purpose of jurisdiction in the event of dispute if any the contract should be deemed to have entered from state of Orissa it is agreed that neither party to this contract nor the agreement will be competent to bring suit at any place outside State of Odisha.
- 17. The tenderer shall have to abide by the CPWD safety code introduced by Government of India.
- 18. The contractor should be fully liable to indemnity the department for any compensation under workmen Compensation Act.
- 19. All the items of work executed should confirm to the OPWD code specification.
- 20. During execution of work the instruction of authorized Engineers of Temple Administration should be meticulously carried out.

Signature of Contractor

Superintending Engineer

CONTRACT DATA

1. Name of Work

: Providing SS Grating in front of Ananda Bazaar East

side hand washing area inside Shree Jagannath

Temple Puri.

2. Employer

: Chief Administrator

Shree Jagannath Temple, Puri

3. Authorised Person

: OSD(Development)

Shree Jagannath Temple, Puri

4. Authorised Engineer

: Superintending Engineer (Works)

Shree Jagannath Temple, Puri

5. a)Amount of EMD

: 1% of the amount put to tender

b)Amount of ISD

: 1% of the approved tender amount

6. Period of bid validity

: 90 days

7. Retention Money

: 5% from each bill.

8. Date of commencement

: Issue of notice to proceed with work

9. Time period

: One Calander month

10. Amount of liquid damage for

Delay in completion of work

: Rs.500/- per day limiting to 2%

of the work value

11. Defects liability period

: One year

12. Deduction from bill

: IT, Labour cess, Royalty and other taxes

as applicable

13. Percentage deduction

for incomplete work

: 20% of the amount of balance work

Signature of Contractor

Superintending Engineer

SCHEDULE OF QUANTITIES

Name of the work:- Providing SS Grating in front of Ananda Bazaar East side hand washing area inside Shree Jagannath Temple Puri.

Estimated Cost Put in Tender: Rs. 2,42,572/-

IIIEM	date and Time of receipt of Tender Schedule : Dt : 03.02					
NO.	DESCRIPTION OF ITEM	UNIT	QUANTITY	RATE IN FIGURES		AMOUNT
	Dismentaling brick masonary or stone masonary in lime & cement mortar under 3.00mtrs height and stacking the useful materials.					
		Cum	0.81	1300.22	₹	1,053.20
2	Fly ash Brick masonary in Foundation & Plinth in C.M. (1:4) including all cost, carriage, royality, addl. charges, DMF & EMF, curing etc. complete as directed by the Errin-charge.					.,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
3	20mm thick in C.M.(1:4) Plaster to the smooth surface	Cum	0.46	5517.00	₹	2,537.80
	including all cost, carriage, royality, addl. charges, DMF & EMF, curing etc. complete as directed by the Erin-charge.					
		Sqm.	5.09	262.80	₹	1,337.70
•	Supplying all materials, labour, T&P and providing cement concrete (1:1½:3)with 12mm size hard broken granite chips for R.C.C works including hoisting, laying, watering, curing, conveyance of all materials to worksite, payment of royalty, taxes etc all complete as per specification and direction of the Engineer in charge					
		Cum	0.48	8491.80	₹	4,076.10
	Supplying, fitting and fixing of Stainless Steel of 316 Grade in Gratings/Jaali using SS Square/Rectangular Pipes and Plates including moulding, fabricating, buffing, blistingetc as per approved design and specification, with all cost, labour, materials etc. complete.			0.000		
		Kg	329.56	636.10	₹	2,09,633.10
	Providing and fixing Khandalite stone 40 mm thick on 25 mm thick cement motor (1:1) jointed with neat cement slury mixed with pigment to match the shades of the tiles including rubbing and polishing complete including cost all materials conveyance,royalities and taxes of all materialsand cost of all labour, T & P required for the work etc.					
	5	Sqm.	7.09	2675.68	₹	18,970.60

7	Supplying all materials, labour, T&P and providing and laying in trenches unplasticized PVC pipes and specials conforming to IS: 4985/2000 of the following outside dia for all classes including jointing with supply of approved solvent cement by heat application method including testing as per specification and direction of the Engineer in charge.	Mtr	10.00	496.30	₹	4,963.00	
				430.00	<u> </u>	4,303.00	
				Total =	₹	2,42,572.00	
	Total in Wards	Rupees Two lakh forty two thousand five hundred seventy two only					
	I do offer my rateLess/Excess (in word 2,42,572.00 /-) than	the Esimated Co	st of	Rs	
	07 (Seven Items Only) GST Extra						

Percentage of Excess/Less-

Tender Amount-

No. of correction..... No. of over writting.....

Approved

OSD (Development) Shree Jagannath Temple

> Issued to Sri...., Contractor vide M.R.No.....dtd.....

> > Superintending Engineer Shree Jagannath Temple

Signature of Contractor

Superintending Engineer

Signature of Employer

Shree Jagannath Temple

Shree Jagannath Temple



SHREE JAGANNATH TEMPLE OFFICE, PURI

TENDER DOCUMENT

Name Of Work:- Improvement of P.H. Works to Shree Gundicha Bhakta Niwas such as supplying hot water to all room toilets of A Block from Central water heating system.

EMPLOYER

CHIEF ADMINISTRATOR

SHRI JAGANNATH TEMPLE,PURI

Terms and Conditions

- The rates should be quoted in percentage of Excess/Less on the BOQ at last page.
- 2. Contractor will be responsible for payment of royalty and all other taxes as per Government norms. GST will be paid extra on the bid amount.
- The tenderer has to furnish attested true copy of contractor's license, GST Registration certificate and IT Pan Card along with the tender failing with the tender is liable for rejection.
- 4. No Departmental materials will be supplied to the contractor for the work.
- 5. Every tenderer is expected to inspect the site for the proposed work before quoting his rate.
- 6. Conditional tender is liable for rejection.
- 7. Letter etc. found in the tender box for raising or lowering of the rates in connection with the tender will not be considered.
- 8. No escalation will be paid due to rise of materials and labour rates.
- 9. Under no circumstance interest is chargeable for dues payable if any for the work to the Contractor.
- 10. Additional performance security shall be deposited by the successful bidder when the range of difference between the estimated cost put to tender and the bid amount is below 5% No APS, from 5% and above and below 10% 50% of the differential cost & from 10% and above- 150% of differential cost of bid amount in shape of DD in favour of Chief Administrator, Shree Jagannath Temple, Puri.
- 11. In case of backing out any by any Contractor, the EMD deposited along with the tender will be forfeited.
- 12. In case delay in work due to any unavoidable reason, the contractor should immediately bring the notice of the Temple Administration in writing which may be considered for extension of agreement period.
- 13. The Contractor should arrange at his own cost necessary tools and plant required for efficient execution of the work and rates quoted should be inclusive of the hire and running charges of such plants and cost of consumables.
- 14. Subletting of the work is not allowed.
- 15. The Contractor will abide by the fair wages clause as introduced by Government of Odisha.
- 16. For the purpose of jurisdiction in the event of dispute if any the contract should be deemed to have entered from state of Orissa it is agreed that neither party to this contract nor the agreement will be competent to bring suit at any place outside State of Odisha.
- 17. The tenderer shall have to abide by the CPWD safety code introduced by Government of India.
- The contractor should be fully liable to indemnity the department for any compensation under workmen Compensation Act.
- 19. All the items of work executed should confirm to the OPWD code specification.
- 20. During execution of work the instruction of authorized Engineers of Temple Administration should be meticulously carried out.

Signature of Contractor

Superintending Engineer

CONTRACT DATA

1. Name of Work : Improvement of P.H. Works to Shree Gundicha

Bhakta Niwas such as supplying hot water to all room

toilets of A Block from Central water heating system.

2. Employer : Chief Administrator

Shree Jagannath Temple, Puri

3. Authorised Person : OSD(Development)

Shree Jagannath Temple, Puri

4. Authorised Engineer : Superintending Engineer (Works)

Shree Jagannath Temple, Puri

5. a)Amount of EMD : 1% of the amount put to tender

b)Amount of ISD : 1% of the approved tender amount

6. Period of bid validity : 90 days

7. Retention Money : 5% from each bill.

8. Date of commencement : Issue of notice to proceed with work

9. Time period : One Calander month

10. Amount of liquid damage for

Delay in completion of work : Rs.500/- per day limiting to 2%

of the work value

11. Defects liability period : One year

12. Deduction from bill : IT, Labour cess, Royalty and other taxes

as applicable

13. Percentage deduction

for incomplete work : 20% of the amount of balance work

Signature of Contractor

Superintending Engineer

SCHEDULE OF QUANTITIES

Improvement of P.H. Works to Shree Gundicha Bhakta Niwas such as supplying hot water to all room toilets of A Block from Central water heating system.

Estimated Cost Put in Tender: Rs. 2,42,727/-

Last date and Time of receipt of Tender Schedule : Dt : 03.02.2024 up to 1.00 P.M.

ITEM NO.	DESCRIPTION OF ITEM	UNIT	QUANTITY	RATE IN FIGURES		AMOUNT
1	Supplying all materials, labour, T&P and providing and fixing to wall or ceiling and floor PVC pipes conforming to ASTM-D 1785/89 (Sch-80) & 15778 /2007 SDR 11 C-PVC pipe & fittings of the following nominal bore with clamps including making good the wall, ceiling and floor ,testing all complete as per P.H. specification and direction of Engineer-incharge. Ground Floor 20mm dia C-PVC Pipe					
		mtr	30.00	278.60	₹	8,358.00
2	First Floor 20mm dia C-PVC Pipe	mtr	30.00	287.50	₹	8,625.00
3	Second Floor 20mm dia C-PVC Pipe	mtr	30.00	296.30	₹	8,889.00
4	Ground Floor 25mm dia C-PVC Pipe	mtr	48.00	380.10	₹	18,244.80
5	First Floor 25mm dia C-PVC Pipe	mtr	48.00	389.00	₹	18,672.00
6	Second Floor 25mm dia C-PVC Pipe	mtr	48.00	397.80	₹	19,094.40
7	Third Floor 25mm dia C-PVC Pipe	mtr	50.00	406.70	₹	20,335.00
8	Third Floor 40mm dia C-PVC Pipe	mtr	50.00	785.80	₹	39,290.00
9	Ground Floor 50 mm dia UPVC ASTM-D Pipes	mtr	30.00	490.90	₹	14,727.00
10	First Floor 50 mm dia UPVC ASTM-D Pipes	mtr	4.00	503.70	₹	2,014.80
11	Second Floor 50 mm dia UPVC ASTM-D Pipes	mtr	4.00	516.50	₹	2,066.00
12	Third Floor 50 mm dia UPVC ASTM-D Pipes	mtr	20.00	529.30	₹	10,586.00
13	Supplying all materials, labour, T&P and cutting holes through existing brick work including making good the damages in cement mortar(1:4) for taking GI pipes and fittings/PVC pipes and fittings etc. all complete as per PH specification and direction of the Engineer-in-charge. In ground floor 250mm thick wall	each	8	52.20	₹	417.60
14	First Floor 250mm thick wall	aaab	8	53.10	₹	424.80
45	Second Floor 250mm thick wall	each	0	33.10	<u> </u>	121.00
15		each	8	54.10	₹	432.80
16	Supplying all materials, labour, T&P and fitting and fixing brass/CP fittings of following nominal bore with supply of all jointing materials complete as per P.H. specification and direction of Engineer-in-charge. 15mm dia CP angle stop cock(Jaquar)-FLR-ABR-5053N)	Each	10	1722.70	₹	17,227.00

1,7	20 mm Ball Valve	Each	24	461.60	₹	11,078.40
18	25 mm Ball Valve	Laoii	27	401.00	+	11,070.40
		Each	6	612.50	₹	3,675.00
19	40 mm Ball Valve	Each	2	1663.20	₹	3,326.40
20	50 mm Ball Valve	Each	2	2738.60	₹	5,477.20
21	20 mm brass Non Return Valve (NRV)	Each	24	451.90	₹	10,845.60
22	25 mm brass Non Return Valve (NRV)	Each	6	713.80	₹	4,282.80
23	2 Feet Hot Connection Pipe	Each	15	327.50	₹	4,912.50
24	Spindle for Bib Cock/Stop Cock	Each	10	170.80	₹	1,708.00
25	CP Beat Nipple	Each	24	40.70	₹	976.80
26	Supplying of Sweeper for cleaning of SWR line and Man hole chambers.	Nos	20	352.00	₹	7,040.00
	Total =			Total =	₹	2,42,727.00
	Total in Wards	Rupees Two lakh forty two tho twenty seven				seven hundred
	I do offer my rateLess/Excess (in word) than the Esimated Cost of Rs 2,42,727.00 /-					

26(Twenty six Items Only)

GST Extra

Percentage of Excess/Less-

Tender Amount-

No. of correction..... No. of over writting.....

OSD (Development)

Shree Jagannath Temple

Issued to Sri...., Contractor vide M.R.No.....dtd.....

> Superintending Engineer Shree Jagannath Temple

Signature of Contractor

Superintending Engineer

Shree Jagannath Temple

Signature of Employer

Shree Jagannath Temple